## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Amending Enrollment Resolution List November 2013 Nos. 77-80, 115-82, 36-85, 03-90, 97-256, 98-034, 98-123, 98-294, 98-429, 98-461, 99-004, 99-360, 2000-035, 2000-397, 01-050, 01-094, 02-003, 03-100, 03-153, 07-075, 09-008, 10-070, 12-260, 13-109 and 13-331 to Correct Names of Enrollment Applicants and/or Roll Numbers)

**RESOLUTION NO. 13-434** 

1	WHEREAS,	the Tohono O'odham Legislative Council is vested with the power to enact laws
2		and ordinances governing the enrollment and adoption of members (Article II,
3		Sections 1 and 2 and Article VI, Section 1 (h) of the Constitution of the Tohono
4		O'odham Nation); and
5	WHEREAS,	Articles VI and VII of the Nation's Enrollment Ordinance provide that the
6		Enrollment Committee is responsible for reviewing enrollment applications
7		and making recommendations to the Legislative Council regarding the
8		eligibility of applicants (Ordinance No. 05-81, as amended; 14 T.O.C. Chapter 1);
9		and
10	WHEREAS,	the Enrollment Program has determined that a number of resolutions
11		approving applicants for membership contain misspellings in the names of
12		applicants; or incorrect roll numbers; and
13	WHEREAS,	the Enrollment Program therefore recommends that Resolution Nos. 77-80, 115-
14		82, 36-85, 03-90, 97-256, 98-034, 98-123, 98-294, 98-429, 98-461, 99-004, 99-360,
15		2000-035, 2000-397, 01-050, 01-094, 02-003, 03-100, 03-153, 07-075, 09-008, 10-
16	i	070, 12-260, 13-109 and 13-331 be amended to reflect the correct name spelling
17		or roll numbers for the individuals identified in the Amending Enrollment
18		Resolution List November 2013, which is incorporated by this reference.
19	NOW, THER	EFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that
20	!	Resolution Nos. 77-80, 115-82, 36-85, 03-90, 97-256, 98-034, 98-123, 98-294, 98-
21		429, 98-461, 99-004, 99-360, 2000-035, 2000-397, 01-050, 01-094, 02-003, 03-100,
22		03-153, 07-075, 09-008, 10-070, 12-260, 13-109 and 13-331 are amended upon the
23		effective date of those resolutions to reflect the corrected names or roll
24		numbers that are identified in the Amending Enrollment Resolution List
25		November 2013.
26 27	The foregoin day of NOVE	g Resolution was passed by the Tohono O'odham Legislative Council on the 04 <sup>TH</sup>

The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 04<sup>TH</sup> day of NOVEMBER, 2013 at a meeting at which a quorum was present with a vote of 2,946.5 FOR; -0- AGAINST; -0- NOT VOTING; and [04] ABSENT, pursuant to the powers vested in the Council by Article II, Sections 1 and 2 and Article VI, Section 1(h) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat.984).

(Amending Enrollment Resolution List November 2013 Nos. 77-80, 115-82, 36-85, 03-90, 97-256, 98-034, 98-123, 98-294, 98-429, 98-461, 99-004, 99-360, 2000-035, 2000-397, 01-050, 01-094, 02-

**RESOLUTION NO. 13-434** 

(Amending Enrollment Resolution List November 2013 Nos. 77-80, 115-82, 36-85, 03-90, 97-256. 98-034, 98-123, 98-294, 98-429, 98-461, 99-004, 99-360, 2000-035, 2000-397, 01-050, 01-094, 02-003, 03-100, 03-153, 07-075, 09-008, 10-070, 12-260, 13-109 and 13-331 to Correct Names of Enrollment Applicants and/or Roll Numbers)

**Evonne Wilson, Legislative Secretary** 

ACTION: AMENDING ENROLLMENT RESOLUTION LIST NOVEMBER 2013 NOS. 77-80, 115-82, 36-85, 03-90, 97-256, 98-034, 98-123, 98-294, 98-429, 98-461, 99-004, 99-360, 2000-035, 2000-397, 01-050, 01-094, 02-003, 03-100, 03-153, 07-075, 09-004, 02-004, 02-005

008, 10-070, 12-260, 13-109 AND 13-331 TO CORRECT NAMES OF ENROLLMENT APPLICANTS AND/OR ROLL

NUMBERS

MOVED: COUNCILWOMAN LORRAINE EILER

SECOND: COUNCILWOMAN MARY LOPEZ

DATE: NOVEMBER 04, 2013

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 224.2	1. LUCINDA ALLEN (Nicholas Jose)	112.1	Х			
	2. MARY LOPEZ	112.1	x			
SELLS 502.0	1. ARTHUR WILSON (Kimberly Mull)	251.0	X			
302.0	2, BARBARA HAVIER ( )	251.0	х			
SCHUK TOAK 174.2	1. FRANCES B. STEPHENS (Anthony J. Rios)	87.1	X			Х
1/3.2	2. QUINTIN C. LOPEZ (John Fendenheim)	87.1	X			
SAN XAVIER	1. HILARION CAMPUS	112.1	X			
224.2	2. ADAM ANDREWS (Rachael Vilson-Stoner)	112.1	x		:	
SAN LUCY	1. DIANA MANUEL (Gloria Ramirez)	109.8	х			
219.6	2. JANA MONTANA	109.8	x			
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	105.3	Х			
210.6	2. EDWARD MANUEL, SR.	105.3	x			X
HICKIWAN 196.9	1. LOUIS R, LOPEZ (Michelle Ortega)	98.45	x			
190.9	2. SANDRA ORTEGÁ (Manuel Osequeda, Jr.)	98.45	X			
HIA CED 19.6	1. LORRAINE EILER (Jolene Garcia)	9.8	X			
	2. MICHAEL FLORES ( )	9.8	X			X
GU VO 241.0	1. GRACE MANUEL (Floyd Flores)	120.5	X			X
	2. PAMELA ANGHILL (Jeffery Antone, Sr.)	120.5	Х			
GU ACHI 257.3	1. TIMOTHY L. JOAQUIN	128.65	X			
257.3	2. LORETTA LEWIS (Louis Johnson)	128.65	X			
CHUKUT KUK	1. ETHEL GARCIA (Marlakay C. Henry)	159.6	X			
319.2	2. BILLMAN LOPEZ ( )	159.6	x			
BABOQUIVARI	1. FRANCES MIGUEL (Roberta Harvey)	178.85	X			
357.7	2. VERNON J. SMITH (Gloria Zazueta)	178.85	x		:	
	TOTAL	2,946.5	2,946.5	-0-	-0-	[04]